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Across

2. Babies need this to speak 

but do not need to be trained

8. This type of reinforcement 

according to Bandura leads to 

behaviour being repeated 

because of personal satisfaction

10. Chomsky says we are this 

to learn a language

11. Gesell believes that if a 

child experiences delayed 

development then the problem 

is this

12. According to Bandura this 

is very important to show 

appropriate behaviour

13. This happens when new 

information is added to a 

schema

14. Chomsky says we cannot 

learn just through this

Down

1. Stage 1 in Piaget's stages 

of development between 0-2 

years

3. This happens when new 

information is added to a 

schema according to Piaget

4. The stage in which 

children use symbols to 

represent earlier discoveries

5. Development of concepts 

about the world around us, one 

of Piaget's schemas

6. Gasell's theory based on 

norms & milestones and that 

we all develop at our own pace

7. Gesell believes this has 

little influence on our 

development

9. Series of stages of 

intellectual development 

according to Piaget


